
AGG70−6A,31

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3



AGG70−6A,32

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3



AGG70−6A,33

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3



AGG70−6A,34

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3



AGG70−6A,35

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3



AGG70−6A,36

Farbmetrischer Filter-Transfer  n = 3
c*3  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*3


